

Activity Sheet 7 - Other Stacking Situations


1.   The picture shows a stack of chairs and a stack of tables:
[image: Camera Contents 12]a)	Where in the picture can you see each stack increasing in height?
b)	Where else can you see each of the stacks increasing in height?
[image: Question 4]c)	Which line of dots 
on the graph represents the tables?
d)	One line of dots is steeper than the other. What does this tell you about the stack of tables compared with the stack of chairs?
e)	What would be the difference in height of a stack of 8 chairs compared with a stack of 8 tables?
f)	What do you think is the maximum number of chairs that you could safely put in one stack? 

2.	Draw a set of plant pots, with measurements, to represent these three graphs:
[image: 5b][image: 5a]a) 								b)









c) 
[image: 5c]










3.	[image: PICT2172small]The picture shows supermarket trolleys.

Five trolleys stacked together are 260 cm long and eight trolleys are 380 cm long.

a. By how much is the length increasing every time you add a trolley?

b. How long is one trolley?


c. [image: ]Complete the table.



Length cm

d. Complete the graph.

e. Show on the table how you can work out the increase in length every time you add a trolley.

f. Show on the graph how you can work out the increase in length every time you add a trolley.
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